Mitsubishi

GeneraI-Purpose\ Programmable Controller

Renewal Tool

Base Adapter
Models:

ERNT-ASQB38N-S1

User’s Manual

ERNT-ASQB38N-S1

| 50CM-D180141-B (1604) |

MITSUBISHI ELECTRIC ENGINEERING COMPANY LIMITED

HEAD OFFICE : Hulic KUDAN BLDG 1-13-5, KUDANKITA CHIYODA-KU, TOKYO 1020073, JAPAN
NAGOYA ENGINEERING OFFICE:139 SHIMOYASHIKICHO-SHIMOYASHIKI, KASUGAI, AICHI 486-0906, JAPAN

@ SAFETY PRECAUTIONS @

(Always read these precautions prior to use.)

Before using this product, please read this manual carefully and pay full attention to safety to ensure that

the product is used correctly.

The precautions presented in this manual are concerned with this product only. For Programmable

Controller system safety precautions, refer to the user’s manual of the MELSEC-Q series CPU module to

be used.
In this manual, the safety precautions are ranked as “WARNING” and “CAUTION.”

/\ WARNING

Indicates that incorrect handling may cause hazardous conditions,
resulting in death or severe injury.

/\ CAUTION

Indicates that incorrect handling may cause hazardous conditions,
resulting in medium or minor injury and/or property damage.

Note that failure to observe the /\ CAUTION level instructions may lead to a serious consequence

according to the circumstances. Always follow the precautions of both levels because they are important to

personal safety.

Please keep this manual in an easy-to-access location for future reference, and be sure to provide the

manual to the end user.

Precautions before using]

/\ CAUTION

@ When making a switch from the MELSEC-A Series to the MELSEC-Q Series, be sure to consult

user's manual supplied with individual module under the MELSEC-Q Series to confirm differences
in various aspects including performance and function between the two series.

Installation Precautions]

/\ WARNING

Before attempting to install the Unit, make certain that the external power supply, used in the
system, is shut off on all three phases. Failure to do so may result in electric shock or damage
to the product.

/\ CAUTION

Use the Base Adapter in the environmental conditions that are specified in the general
specification contained in the user's manual supplied with the MELSEC-Q Series CPU Module.
If the Products are used in any environment beyond the bounds of the general specification,
electric shock, fire, malfunction, or damage to or degradation of the Products will result.

Fasten the Base Adapter and the MELSEC-Q Series Base Unit securely with retaining screws,
and tighten the screws by applying torque within specified limits. Loose screws can lead to the
dropping of the Base Adapter or MELSEC-Q Series Base Unit, possibly causing breakage
thereof. Excessive tightness of the screws can lead to breakage of the screws, Base Adapter or
MELSEC-Q Series Base Unit, possibly causing the dropping.

Sta

rtup and Maintenance Precautions]

/\ WARNING

Shut off the external power supply for the system in all phases before cleaning or retightening
the terminal screws. Failure to do so may result in electric shock. Loose screws can lead to
dropping, shorting, and malfunction. Excessive tightness of the screws can lead to breakage of
the screws, Base Adapter, or MELSEC-Q Series Module, possibly causing the dropping,
shorting, and malfunction thereof.

/\ CAUTION

Do not drop the Base Adapter or do not give a strong impact to it. This will cause damage.

Dis

posal Precautions]

/\ CAUTION

When disposing of the product, treat it as industrial waste.

4

A-2

@ ZEIFEEM @

(ERAES IR
A, BFEREATH, HRSIERE, EHtER~R.

FFMPIRENEERIUCH T SR~ REXNAR . XTAREESERS

&
S

=

BB, HSFM{ERRMELSEC-0RFICPUIEIREY I A F1f.
OLLEIEFNOT, REFTEFUMFLES N [EE M ER] .

FRERRETRERERER, 3IRRCREHI.

RRERBETRERRRER, SIBTEGE. RIARM™
Bk

, RIBEAARE, MEREATEFICHNER, BARSILTERR. ©

MEHHBRERZEENAS, BESVET.

FRERESTHM, UWEFENIA, HEEETFRZARERF.

[

ARHEEEL

==
A;E =

@ MMELSEC-AnSERFIIE#: EMELSEC-QRTFIRT, AEPAMEFIGESFAENE

7, BSWSHRMELSEC-QR TN SRR FAHHITER -

(=

XEEZEm]

H

3

ESw R G E RO AANIMIMARIFEHTRE. MRTUIMFT
FIEREIR, FAESMER RIS~ RIRIE.

M ==
A Ja =

RZFEMELSEC-QZ FICPUIRIRF P A R T £ A — AR AR IR T 15 A B ARE
BLeg . ANRIE—MFAETERE SN IRE R {5 I B ARIE AL RS, ATAE S Bt
KR IREME,. ERIFR RS K.

E AR AD 28 RMELSEC-QZRTIEL AR Ry 188 R IHIZSTHI S MU BIE, RBIRET
RZEMENAEEE RISt . MRIRETIT SR, BAsEREEm
SHEREA RS KMELSEC-QRFIERA IR . RIZFTITHRILE, HRE
IR EARIEAL2E RMELSEC-QRTIEIRIEIR, NMSHIEE.

[EahfndEiri s EEm]

gk

H
=

O EEERRIEMEERKIBITH, LIUERGEMMIMBEMEIRSER
Wi E B TIRIE. MRARSEETF, FUESHME. MRIBTIFED
W, AARSEEE. ERMRE. MRBTIHFELE, A9
$257 . EARISACERFIMELSEC-QRFIBAIEHARIR, WM SBUEE. Rk

REME.

BERIER

O E7ERRERFIEERFZIRIES . BN AR SHRIR.

(EZoEREA]
NiE B

@ EFHERA~RIEATIEFYLE,

A-4

1. Overview

This manual describes specifications, handling and other information on the Mitsubishi general-purpose

Programmable Controller renewal tool base adapter ERNT-ASQB38N-S1.

The Base Adapter ERNT-ASQB38N-S1 is a product which enables a MELSEC-Q Series main base unit
Q38B and extension base unit QA1S51B to be installed by utilizing the mounting holes in the
MELSEC-ANS Series main base unit A1S38B/A1S38HB. (Additional screw hole machining not required.)

MELSEC-AnS Series main base unit

A1S38B/A1S38HB
o o
° °

Mount using the mounting
holes of
A1S38B/A1S38HB

Base Adapter
ERNT-ASQB38N-S1

MELSEC-Q series
extension base unit

Y
MELSEC-Q series
main base unit

Q38B QA1S51B

Once you have opened the packaging, verify that it contains the following products.

Product Quantity
Base Adapter 1
Base Adapter installation screws (M5 X 12) 4
This manual 1
2. Product Specification
Specification
Base Adapter . MELSEC-Q Series .
Model MELSEC-AnS Series Compatible Module Model Weight
Compatible Module Model h - ()]
Main Extension
A1838B Q38B

ERNT-ASQB38N-S1 A1S38HB (+1) QA1S51B 975

*1 : Q35B and Q33B can be also mounted.

3. Mounting and Installation

3.1 Handling Instructions

(1) Before attempting to install the Unit, make certain that the external power supply, used in the system, is
shut off on all three phases.

(2) Fasten the Base Adapter and the MELSEC-Q Series Base Unit securely with retaining screws, and
tighten the screws by applying torque within specified limits. Loose screws can lead to the dropping of the
Base Adapter or MELSEC-Q Series Base Unit, possibly causing breakage thereof. Excessive tightness
of the screws can lead to breakage of the screws, Base Adapter or MELSEC-Q Series Base Unit,
possibly causing the dropping.

(3) Do not drop the Base Adapter or do not give a strong impact to it. This will cause damage.

3.2 Instruction for use

Item Description
Extension For the extension cable that connects the main base unit and the extension base unit, use
cable QCO06B (0.6m) or longer cables.

extension cable
(QCO06B or longer)

Depth The depth dimension increases by 16mm. Check dimensional data before installation.
dimension [MELSEC-AnS series]

MELSEC-AnS

Main base unit
A1838B

Q '
MELSEC-AnS

Base Adapter series Eh
ERNT-ASQB38N-S1 b
(QA1S51B mounting] | bl
portion) ;;}H}
i
l (¥
Extension base unit
QA1S51B
2
Item Description
gepth . If a Conversion Adapter is also used to replace a MELSEC-AnS Series unit with a
imension

MELSEC-Q Series unit, the depth dimension is "9mm" bigger than the value indicated in
the Conversion Adapter's user's manual. Check dimensional data before installation.

(Example) Replacing A1SX10 by QX10 using ERNT-ASQTXY 10

Conversion Adapter user's manual (dimension)

MELSEC-AnS MELSEC.Q
Series Seri
ok eries I
B ;
A1SX10 Ig}g Qx10 I Conversion Adapter
e i ERNT-ASQTXY10
e |
Bl I
] i

Base Adapter
ERNT-ASQBOON

25.5mmUP

L+

Using an ERNT-ASQB38N-S1 base adapter

L ;
110mm 135.5mm
[ 2>

MELSEC-AnS MELSEC-Q
Series. Series
Qx10

Conversion Adapter
ERNT-ASQTXY10

A18X10

i T
At

A
ottt

Base Adapter
ERNT-ASQB38N-S1

110mm |7+9m_,m 144.5mm
L 34.5mmUP 2




Item Description

Height [Using a conversion adapter other than ERNT-ASQT68AD]
dimension | The height dimension increases by 1.5mm. Check dimensional data before installation.
MELSEC-AnS
series MELS,EC'G
}EIE series
i
}EIE * Conversion Adapter
Bl Other than the
A ERNT-ASQT68AD
il
!
v Base Adapter

ERNT-ASQB38N-S1

1.5mm

[Using an ERNT-ASQT68AD conversion adapter]
The height dimension increases by 12mm. Check dimensional data before installation.

MELSEC-AnS

eries MELSEC-Q

series

Conversion Adapter
ERNT-ASQT68AD

Base Adapter
ERNT-ASQB38N-S1

FG terminal

12mm

[Without using a conversion adapter]
The height dimension increases by 1.5mm. Check dimensional data before installation.

MELSEC-AnS

series MELSEC-Q

series

Base Adapter
ERNT-ASQB38N-S1

Item Description

Width Even when using the MELSEC-Q series main base unit Q35B/Q33B, the same width
dimension | dimension as for A1S38B/A1S38HB is required (in order to mount a Base Adaptor.)

[Q35B]
Base Adapter ERNT-ASQB38N-S1

®
olio]

MELSEC-Q series

MELSEC-Q series
main base unit extension base unit
Q358 QA1S51B

[Q33B]
Base Adapter ERNT-ASQB38N-S1

MELSEC-Q series

MELSEC-Q series
main base unit extension base unit
Q33B QA1S51B

3.3 Installation Environment
The installation environment is the same as MELSEC-Q series CPU Module to use. Refer to the user's
manual of the MELSEC-Q Series CPU Module to be used.

4. Installation Dimensions

(1) The base adapter installation holes (4 locations) have the same installation dimensions as those of the
MELSEC-ANS series base unit. There is no need for additional screw hole machining on the control
panel.

(2) The size will be 1.5 mm larger downwardly than the MELSEC-AnS series.

(3) Adjust the wiring length when replacing the MELSEC-AnS series with the MELSEC-Q series because
their module-mounting slot positions are different.

@MELSEC-ANS series A1S38B/A1S38HB
| 430

10 410
>t

|

5]

! 430

Unit : mm

5. Installation Location

Install the main base unit (Q33B, Q35B, Q38B) and the extension base unit (QA1S51B) to the
locations shown below.

Base adapter ERNT-ASQB38N-S1

@ 0\
® ©] € @
® @ ¢ @ @
Ry . . . @
Q338 QA1S518
A e @L
—c !!!Do
0oa F
)
Q358 ]
J = o B2 B B B3 B3 B =3
i ] II:I II:I II:I II:I I:II ol
00 10
Q38B
T
3 —_ II:I II:I II:I II:I — — — ) e
o0 5

6. Part Names and Installation Method

6.1 Installation Method

Base Adapter

Base Adapter installation screw
M5 x 12 (supplied with Base adapter)

MELSEC-Q series
extension base unit
QA1851B

MELSEC-Q series
main base unit

..

“% MELSEC-Q series extension base unit QA1S51B

installation screw
,\ M5 x 25 (supplied with MELSEC-Q series extension base unit)

MELSEC-Q series main base unit installation screw
M4 x 14 (supplied with MELSEC-Q series main base unit)

Mount the MELSEC-Q series main base unit to the Base Adapter, and secure its position with the

installation screws (M4x14) that come with the main base unit. (4 points)

Mount the MELSEC-Q series extension base unit (QA1S51B) to the Base Adapter, and secure its

position with the installation screws (M5x25) that come with the extension base unit. (3 points)

Mount the Base Adaptor to a panel surface, and secure its position with the Base Adapter

installation screws (M5x12) that come with this product. (4 points)

6.2 Tightening Torque

Tighten the installation screws to the specified torque below. An inappropriate tightening torque could

cause the product to fall or result in a short circuit, product failure or malfunction.

Screw Location Tightening Torque Range

MELSEC-Q series main base unit installation screw (M4x14)

1.39t0 1.89 N'm

MELSEC-Q series extension base unit QA1S51B installation screw (M5x25) | 1.59 to 2.16 N'm

Base Adapter installation screw (M5x12)

2.75 0 3.63 N'm (¥1)

*1 : When the control panel side (female screw) material is iron.

8
7. External Dimensions
o 1) [ U] 5l
(7 A
3 3
m_ &
& L2 PP PR R =
319 ) 168.8 s | o
- 224.4 -
15.5 307.8
10 410
430
F Unit:mm
9

Please confirm the following product warranty details prior to product use.

tis Wa

tis Warranty Terms and Gi y Range

If any fault or defect (hereinafter referred to as “Failure”) attributable to Mitsubishi Electric Engineering Company Limited
(hereinafter referred to as “MEE”) should occur within the gratis warranty period, MEE shall repair the product free of charge
via the distributor from whom you made your purchase.

[ ] Gratis Warranty Period
The gratis warranty period of this product shall be one (1) year from the date of purchase or delivery to
the designated place.
Note that after manufacture and shipment from MEE, the maximum distribution period shall be six (6)
months, and the gratis warranty period after manufacturing shall be limited to eighteen (18) months.
In addition, the gratis warranty period for repaired products shall not exceed the gratis warranty period
established prior to repair.

[ ] Gratis Warranty Range
The gratis warranty range shall be limited to normal use based on the usage conditions, methods and
environment, etc., defined by the terms and precautions, etc., given in the instruction manual, user’s
manual and caution labels on the product.

Warranty Period after Discontinuation of Production

1) MEE shall offer product repair services (fee applied) for seven (7) years after production of the product has been
discontinued. Discontinuation of production shall be reported via distributors.
2) Product supply (including spare parts) is not possible after production has been discontinued.

Exclusion of Opportunity Loss and Secondary Loss from Warranty Liability

Regardless of the gratis warranty period, MEE shall not be liable for compensation for damages arising from causes not
attributable to MEE, opportunity losses or lost profits incurred by the user due to Failures of MEE products, damages or
secondary damages arising from special circumstances, whether foreseen or unforeseen by MEE, compensation for
accidents, compensation for damages to products other than MEE products, or compensation for other work carried out by

the user.

Changes in Product Specifications

The specifications given in the catalogs, manuals and technical documents are subject to change without notice.

This document is a new publication, effective April 2016. Specifications are subject to change without notice.

Developed April 2016
50CM-D180141-B



